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21 In scenario, item (3) under heading Eu should read ‘The tax written-down value of the capital 

allowances main pool at 1 July 2018 was £5,883. On 15 September 2018 Eu purchased office 

furniture for £2,400. All of the items included in the main pool were sold for £5,175 (all for less 

than cost) on 30 September 2018.’ 

44 In scenario, first sentence under heading Bon should read ‘Bon has been the sales director of 

Alphabet Ltd since 1 February 2017, having not previously been an employee of the company 

although she had been a shareholder since 1 March 2015.’ 

112 The answer to question 65 should be £15,200. The basic rate limit is £(32,000 + 49,000) = 

£81,000 so all of Anne's taxable income is within the basic rate band. Her income tax liability is 

therefore £76,000  20% = £15,200. 

 


